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[98/100(n/s3/N]  Frequency Response H1(Response 1. Force) (Magnitude) Cursor Values
Modal  Input - Iput - Modal FFT Analyzer 1 Y =5.03dB/1.00 fn/]

X=1000Hz

‘7‘

8
]
1K

Status.
8/15/2011 16:36:12.
Averages: 5

Overoad: 0.00%

Resonance

Frequency = 82.00 Hz
Cant compute Dekiaf

1 K- W)

Cursor Values
Y =5.03dB/1.00 /AN

[48/1.00 (n/s3/N] Frequency Response H1(Response 1. Force)1 (Magnitude)
Modal  Input :Input - Modal FFT Analyzer 1

X=1000Hz

Status.
8/15/2011 16:36:12.115
Averages: 5

Overoad: 0.00%
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